V[cos(x/1989) - 2] + V[cosx - V2] = V[Cos(x/1989)+cosx-1]
cos(x/1989) - 72 =a

cosx - 2 =b

Cos(x/1989)+cosx-1=a+b

Va+Vb=V(a+b)

a+2VaVb+b=a+b

a’2+2VaVb+b-a-b=0

2VaVb=0

VaVb=0

a=0
i b>=0

| b=0
a>=0

cos(x/1989) - 72=0
cos(x/1989)="%

x/1989 = P/3+2Pn

x= +-1989P/3+3978Pn

X= +-663P+3978Pn pelueHnn HeT

cosx = V5
x= +-P/3+2Pk

cos x/1989 >=

-663P+3978Pn<=(+-P/3+2Pk) <= -5967P+3978Pn
-663P+3978Pn-(+-P/3)<=2Pk<= -5967P+3978Pn-(+-P/3)
[-663P+3978Pn-(+-P/3)]/2P<=k<=[-5967P+3978Pn-(+-P/3)]/2P

OtBeT: +-P/3+2Pk, npu k no HepaBeHCTBY BbiLLE




